
1.Select the correct mirror image of the

given combination when the mirror is

placed at MN as shown.

दिए गए संयोजन के सही िर्पण प्रदिदबंब का चयन

कीदजए जब िर्पण को MN र्र रखा जािा है, जैसा

दक दिखाया गया है।
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Q.1 How many rectangles are there in the 

given figure?

दी गई आकृति में तकिने आयि हैं?

(A)12 

(B) 9 

(C) 10 

(D) 11



Q.2 How many triangles are there in 

the given figure?

दी गई आकृति में तकिने तिभुज हैं?

(A)5 

(B) 7 

(C) 8 

(D) 9



Q.3 How many squares are there in 

the given figure?

दी गई आकृति में तकिने वगग हैं?

(A)27 

(B) 25 

(C) 24

(D) 26



Q.4  How many squares are there in the 

given figure?

दी गई आकृति में तकिने वगग हैं?

(A)15

(B) 13 

(C) 11 

(D) 18



Q.5 How many squares are there in 

the given figure?

दी गई आकृति में तकिने वगग हैं?

(A)6 

(B) 4 

(C) 3 

(D) 5



Q.6 . How many triangles are there in the 

given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A) 60

(B) 64

(C) 61

(D) 63



Q.7. How many triangles are there in the 

given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A)11 

(B)14 

(C)12 

(D)13



Q.8. How many triangles are there in the 

given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A)17 

(B)18 

(C)15 

(D)16



Q.9. How many triangles are there in the 

given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A)10 

(B)12 

(C)11 

(D)13



Q.10 How many triangles are there in the 

given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A)27 

(B)26 

(C)24 

(D)25



Q.11. How many triangles are there in the 

given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A)27 

(B)26 

(C)20 

(D)24



Q.12. How many triangles are there in the 

given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A)10 

(B)11 

(C)12 

(D)14



Q.13 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A)6 

(B)7 

(C)8 

(D)10



Q.14 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

(A) 10 

(B) 12

(C) 14

(D)16



Q.15 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 1

2 

b) 11 

c) 10 

d) 1

5



Q.16 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 12 

b) 16 

c) 9 

d) 8



Q.17 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 12 

b) 16 

c) 18

d) 20



Q.18 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 6 

b) 10 

c) 12 

d) 16



Q.19 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 12 

b) 16 

c) 10 

d) 20



Q.20 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 29 

b) 38 

c) 40 

d) 35



Q.21 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 32 

b) 34 

c) 37 

d) 40



Q.22 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 8 

b) 10

c) 12 

d) 14



Q. 23 How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 4 

b) 5 

c) 6 

d) 7



Q.24  How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 10 

b) 11

c) 12 

d) 13



Q.25  How many triangles are there in 

the given figure ?

दी गई आकृति में तकिने तिभुज हैं?

a) 16 

b) 20 

c) 22 

d) 24
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